W LA Ratlo, Proportion, Indices, Logarithm

(203 Queriyov )

Chdpt.f I- Ratlo, (8)  The ratio of number of boys and the rumber of

Proportion, Indices, Logarithm s¥  girls in a school is found to be 15 : 32. How
_— manty boys and equal number of girls should be

added to bring the ratio to 2/37

RATIO & PROPORTION
; a 19 b. 20

Past Year Questions . 23 d 27
_ ' (9)  Inacertain business A and B received profit in
(1 Ifp:qis the sub-duplicate ratio of a certain ratio B and C received profits in the
same ratio. If A gets 2 1600 and C gets Z 2500
& op o then how much does B get?
P+q pq a 2000 & b 72,500

p-x':1q=x’, then x* is




) d. 35:46
e PYQ Dec. 21
(15) A bag contains 105 coins containmg some 50
3 paise, and 25 paise coins. The ratio of the
number of these coins is 4 : 3. The total value
(in ) in the bag is
a 4325 b. 41.25
¢ . 39.25 d. 3525 _
!"‘ll;mihﬂ‘m g b o) :".‘LM‘M 21
(16) In @ department, the number of males and
females are in the ratio 3 : 2. If 2 males and 5
females join the department, then the ratio
becomes 1 : 1. Initially, the number of females
in the department is

(17) A box contams 25 palse coins and ‘10" paise
coins and 5 paise coins in ratios 3: 2 : 1 and
total money is < 40. How many ‘5’ paise coins
are there?

& & 0., 55

¢ 40

(20)  The mean proportional between 24 and 54 is:
a 33 b. 34
c 35 d. 36

y"l'l b=9:4, then J- J.-?
b. 23

c. m. d. 136

5]

(22)

(23)

m

PYQ Junp u
A fraction becomes 1, when 3 are added t, the
numerator and 1 is added to the :‘j(.'ml.'m'rm‘;m,’
bitt when the numerator and denominator gy,
decreased by 2 and 1, respectively, it becompg
1/2. The denominator of the fraction is:
a. 5 b. 6
C. 7 d 8
W PYQ June 24|
ffthcfour number 1/4, 1/6, 1/10, and 1/x are
proportional, then what is the value of x7
a. 14 o 1D
(% 10 h 4. I
S : PYQSep24
f and B is 5: 4 and their
' the end of the year
the income of A is:

TTanN LR AR o
n b 5

=0 e n 0S8 DR

RATIO & PROPORTION

Mock Test Paper Questions

N

P, Q and R three cities. The ratio of average
temperature between P and Q is 11: 12 and
that between P and R is 9:8. The ratio between

the average temperature Q and R
a 2227 b 27:22
¢ 3233 d.  None of these

MCQ Compiler - Quantitative Aptitude Edition 3
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Raﬁa Praporﬁon Indices, Logarithm

MTP Nov 18 : MTP May 20
(2)  Forp, q, r, s> 0 the value of each ratio is (10)  The ratio of the prices of fwo houses was 16:23.
)< g p q r s 5¢  Two years later when the price of the first has

G+r r4s s+p ptq increased by 10% and that of the second by
- 12 b 13 477, the ratio of the prices becomes 11:20.
t_. * / 4 4.y Find the original prices of the two houses.

MTP Nouv 18 a. Z848, ¥1,219
B Letxy WRd ke thites positive numbers and $838, 21,119

b.
e + , c. 2828 21,219
p== g s i (p-x): (p-y): (p-z) = 3:5:7 d 4 848 21,229

then the ratio of x:y:z is ey : e e
R - R (11) Ifa: b 3 4 the value of(Za + 3b) (3::! +4-b) is
A BRI :‘i mmﬁw&
“) The mtw campounded of 2:3, 9:4, 5:6 and 8:10

b 125
ol _d Noneo these ¢

(5) The sub- tnpl:cate ratw of 8 27 "
w278 b. 24:81
d. none of these

e-timber of each type of coins.
102, 136, 170
b. 136, 102, 170
c. 170, 102, 136
d.  None of these

®) Ifxy.z 25 Bifxt i+ 5260, Tt e o
% ofz

(14)  The ratio of the speed of the two trains is 2: 5.
st Ifthe distances they travel are in the ratio 5: 9,

 find the ratio of times taken by them.
& . 29 b. 1825
¢ 2518 & odi 1045

(15)  Two nos. are in the ratio 7: 8 if 3 is added to

- cach of them, ratio becomes 8:9, the no. are
(8)  The ratio of the eariings of two persons 3:2. If a 1416 b. 2427
cach saves 1/5"% of their earnings, the ratio qf ¢ 21,2¢ d. 16,18
their saving
PR b. 32 (16)  The ratio of the number of boys and girls in a

S d 54 school is 2:5. if there are 280 students in the
Mﬁudmbaofgm!smmm

9) vmmmmmﬂnmuﬂwﬁm!;
- +2z =14 then the value of x is.
a 6 b ny
"R A o
Note: None of the options given in MTP are correct,
Therightoneis 14/3 71 b whw i




(18) The salaries of A, B and C are of ratio 2:3:5. if
the increments of 15%, 10% and 20° Yo are

done their respective salaries, then find new

salaries.

a. 23: 33: 60 b. 33:23:60

C. 73 60 33 d. 33:60: 23 $ry
Lo YA & G MTP N 21

(19) The salary of P is 25% lower than that of Q
and the salary of R is 20% higher than Q, the
ratio of salary of R and P will be :

a. b.. 88

21) lfA. B=3 4a:ndB C—7 9,C:D=2:3and
D is 50% more than E, find the ratio between
Aand E
R Pla

V ls the duplicate ratio of 2/3 then the
mlucq": is

a 2 b. -6/7

[ =4 5 d. 9

@5) Ifx:y=2:3, then (5x+2y): (3x-y) =
4  19:3 b. 163
. 72 d 73

(31)  The price of scooter and moped are in the ratio

(26) A person has asset worth of ¥ 1,48, 'Jgg

wish to divide it amongst his wife, son an n‘
daughter in the ratio 3: 2: 1 respectively. Fygy,
this assets share of his son will be:

a.  £24,700 b. €49, 400
c. 274,100 d. %37,050
Rkl MTP June 3

(2?') X, Y Z together starts a business, if X invests
s+ 3 timesas muchas Y invests and Y invests twg
third of what Z invests, then the ratio of
capitals of X, Y, Z is
s 892
c. 36 2

.hﬁ-l.u"\f : €C 22 — DE]

b. 6:3:2

must be mided to each term qf the mtm
49: 68. So that it becomes 3: 47
3 b. 25
8 .8

(30) The ratio of two numbers are 3: 4. The
difference of their squares is 28. Greater
number is:

a 8 & 12
o 24 d 64

D T

X 7:9. The price of moped is ¥ 1600 more than
that of scooter. Then the price of moped is:
a. 37200 b. ¥5600
c. 2800 d. 2700

(32)  Four persons A, B, C, D wish to share a sum
in the ratio of 5:2:4:3. If D gets ¥ 1000 less
than C, then the share of B?

a. 2000 b. 1200

2400 d. 3000

(33)  The monthly incomes of A & B are in the

C  ratio4 :5 are their monthly expenditures are
in the ratio 5 : 7. If each saves ¥ 150 per
month, find their monthly incomes.
a.  (40,50) b. (50,40)

MCQ Compiler - o
T t Quantitative Aptitude Edition*




' Ratio, Proportion, Indices, Logarithm

s'fAB SBBC 67mrdCD 149

then the value of A: B: C: D
a 20014:12:9 b. 20091214

c. (400, 500) d. None of these
MTP June 2023 Series 11 (42)
(34) Two vessels containing water and milk in the
s ratio2:3and 4 :5 are mixed in the ratio 1 : 2.

The ratio of milk and water in the resulting A E ME 9: 14:_ I?‘ d i20 12: M 9 !
mixture. G I B S R S MTP Dec 22— Series 1.
ot i i g I 48 "2- then the value L )
C: 68 : 77 d .None_ of H:ese £ f qg 3 Q: 2p—q
L MTPJume2023 Series Tl | e | b
(35 If(x-9):(3x+6)is the duphcate ratto of 4: Z i
9, find the value of x o 1 7, R

a. =3 b. x=16

36)  The third propomonal between (a®>-b’)

and (a+b)* is
a  atb b a-b
a-b m
¢ (a=b) d (a+b)
A 30 the ratio of 5:2:4:3. If D gets 1000 less
than C, then the share of B?

a+h a-b

o P_r P77 , the process is called

A B
Subtrahendo

=

a4 18xy b 8lxy

~ The monthly incomes of A & B are in the
: :mﬁoi‘SM%armﬁﬂymmmv
__:mt?mratws 7. If each saves ¥ 150 per
"-'Mﬁndﬂmrm;ﬂdym
& (40,500 b (50,40)

c. (400, 500) d.  None of these

[to15and 20is

a. 80!3 : e
d. 120

- ratio2:3and 4 : 5 are mixed in the ratio 1 :

L ' ? i 86129




(50)

d'_ . . I ——
T MTPDec 202838065 £

1) If x!2=y!3=z!7, then the value o
(2x-5y+4z)/ 2yis

(52)

(56) A bag contains coins of denominations 1 rupee,

| ee—

(54) What must be added _

PGP
What is the value of }J—_—'; if . 7
a. 43 b. 203

ok 1216 7/8

a 6/23 b. 23/6
30 U
on 8 o ¢ ;

If four numbers 335 % are proportional
then x =
a 6 b. 5§

5 6
c_ 152 d. None of thes

(53) A box contains 276 coins of 5 rupees, 2 rupees
= and 1 rupee. The value of each kind of coins are
in the ratio 2:3:5 respectively. The number of 2

rupees coin is
a: 52 b. 62

E-25 76 L0 Hdeags

49 : 68, so that it becomes 3 : 4 ?

2 rupee and 5 rupees. Their numbers are in the
ratio 4:3:2. If bag has total of Rs. 1800 then
Jind the number of 2 rupee coins?
a 270 st
- d. 210

expenditures and sayj
in the ratio 4:1, If his SAUINgs of a person are

m"’ﬂ"'Mﬂunmm,m
-ﬂf”‘WnreMmﬁg,; AR rete

N

a 11:9 b. 85
ol 7'5 d 74
MTP June 24 Series |

(58) P, Q and R three cities. The rm_‘io of averag,
temperature between P and Q is 11: 12 gpq
thal between P and R is 9:8. The ratio betweey
the average temperature Q and R
a. 22 :27 b 272
C. 32:33 d. None of these

TSR Ay | MTP June 24 Series Tif]

(59)  The third proportional between ( a -bv) and
(a+b) is:
a. a+b

then

+q .
P=9: 4
a 23 b. 4/3

62)

Ij no. —,~,—,— : L
48 373"% mel’othrtwnaIthenx
&% b. 5
’ 6
S d. None of these
2

BRI UL TR Sy 4 S

(63) T‘he ratio of number of boys and number of
8irls in a school is found to be 15:32. How
many boys and equal number of girls should be

added to bring the ratio to 2/3?
foais a3 b 20
e 23 & ‘37

h

Wmmanumqminmﬁm

X o1 rupee,2 rpee and 5 rupee coins. The ot

stm of the coins is ¥ 43. The ratio between 1

rupee and 2 rupees coins is 3 : 2, Then the
iimber of 1 rupee coins.

a. 12 b

[ 10 d. 16

“""‘-’-‘M-amm’” . wiond ™
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Past Exam Questions

2 gimwid  phtmid, phnin

éh-xloulxlsu-nl
Sh-ab

2B s N ASRE AR R B RO R N

d, None of th

———

Ratio, Proportion, Indices, Logarithm

a. 3

7 |l {!J'Iy :h"o
l.

) [ |

a. 11
C=15

(8 Find the value of 3t /

o
€ A 3

Find the value of a from the following:

‘J(?.)-S xJ(S_)_? i

3
Py
&

@) If P=x"+x"" then P’ -3P=

1[ 1
2 x]

13
17

Ifxy+yz4zx=-1 thmtbebdmef

[._..1. 2ty o x+z |
1+xy 1+w Tezx




T T

i) | BNy
(18} = y ———
00 Lt o = (VB+3)/(5-B) and T (Mg s g P
g g,._—(JE—\/E)H\@*-(\E) . What is the then the value of  is:
2 L b2 b. 7
lue of a* +b°7? a. 7 = el
:a 54 b. 62 16 32
& gl el By o7
MW%:: e L 6d, -
(1) 6" 430 x 2" R PYQ DR
The value of 56 16" < 3 x(27)°
242 9" x3" x =27 then the value of n s
a 232 % 3x(81)
" 0

e =

=y 2:—‘4 g 2::-.4 XN UEC, 21
(;5 If [%] = [Z—b] ;fﬂr some aand b, then

the value of x is

The value of {1 -30.027 (%][%] ] is

o  11/16 b, 1316 ' o
R T
sl N ot sl 4y 6z 7
: s the value of z is: ' -2
I m =¥ : ? i - - -__._'_ Fy
(14) If{'J_) ('J_J ﬁndx M HE b. 732 e, *
a. : 6 - M8 - d 7/64 >

(22)  What is the value of

[ % Jth—c—aﬂx [ ]tcu—bl [x ){aw-n

I e b.
-1 d. I

; 1 b 2 ¢ 3 g

(a+b+c] YR C 5 b 6 a

3 '. 2t 8 a 9 ¢

a  abe b.  9abe 10 b 11 12 d

1/(abe) d. (1/9abe 13 ¢ 14 b 15 d

16 a 17 a 8 ¢

(17) lfx=y‘,y z‘,;:x‘ Mthwalnofabc 0.0 20 ¢ ;.1 [

. 2 4

a1 bh. 2
c- "8 d 4




Ratio, Proportion, Indices, Logarithm

L .{ o T L
F Wel® )
AL P

7) Ifqr=‘, q=a’and rsp=a‘, then find
the value of (pqrs)"*
a. afl +y+z) b. a1‘ zeyiz)
L a{ﬁn yiz) d. (“(p, ) )lu
value of X is (8)  Find the value of (x + y), if
= - -1
el | a2 g v Sl y Lir 1
: 7 —|—+=]| *|=5+y| =3
€03 d 6 . i v " 3
l‘ a3 &3
(2) The value of S o ol
¢ (et +abed?) o (B eberct) - s
= 3 K= x| —

a 1 b ip




W T MTPNovZZ - Seiy

13 then find value of 3p° =9p (22)  Find The value of >~

(15) Ifp ¥ g
a. 3 b, 1/2Ax+1/x) /
& .3(.1-4-13'.!‘)” o d._ . 2.("’ +'U"I.J § da. % b i!
RN - T TR S22, 3 7.
(16) A s 2 o A & 3 o
————— s equal to - 8
The va!ue of(3n+.l _3“:) eq t; !
g % BTG | MTP Nov 22- Serid)
-3 e "<:-' .- o March 22 (23) 1f2'x¥ x 5% =720 then the value of x, y, z?
A . N T . MIF Marc 2 b‘ I 2 4
(17) The value of a 421
2 TR L 2 : d 142
* LAy-v ¥ —(x-2) 2 —(x-y) . e

(x+2) -y (x+yl-2' (y+2) -«

a. 0 b 1
gl o RN R S

(18) Ifabc=2 then thevalueof

> Bt s ad i 1
1+ﬂ+2b“1 1+%b+c-‘l 1+c+ﬂ_1 ® T gq‘ - 64“’{ .. o
1 ) [4ab) x(ab)’ |
SR 1/2 16a°6% b 420

8a"b” d 4a"*

(26) (" +a7" )" ~a")x .
(ah'i +a—1ﬂ }(am +a—-HI) i
a. 1 b. 1

Value of

a+-— a——

a a
C. 2 1 d~ 2 v
a 'l"—z- a s

(27) If (25) =(25x)™ then the value of x will be
i 53 b. 51

C 52 d 5

f_zs’ If x:y=3:4,the value of X'y +xy* :x° +¥'
i
¢ r1sn2 b 1213

el 21:31 d. None im

29) If a* =b,b* =c,c* =a, then xyz is |
B | b. 2 N
g d. Nm#ﬂ”"




e i) ————

AT e e v A TR DIRe L3 Dery |
(30) Ifx=2+ \Gtmd ynz-ﬁ!hen value of
*+y’=
a. 14 b. 4
C. 2 d 6
B1) If p=x" +x", then find value of 3p° - 9p
&' 3 b. 1/2x+1/x)
¢ (x+1/x) d  2A(x+1/x)

G2 ff x=2+3 and y=2-3 then value of

x! A yz =
a. 14 TR |
c.. 2 & 20
(33) On Simplification
] 1 £ 1 b 1
1427 42 142" 42" 13 4+
would reduces to
N - SIS ;AT b. 4
Z(a+b+c) Za+b+c)
£ 1 ol T

fo, Proportion, Indices, Logarithm

16 b ¥ b 18 a
19 b 218 21 g
22 -d 23 a 24 b
25 a 26 b 27 b
28 b 29 a 30 a
31l ¢ 32 a 38 e
34 d 35 d 36 b

LOGARITHM

Past Exam Questions

value of log, 9.log, 2 is




@) If log,\3=1/6 find the value of &

a 9 b 81
?

8 log9+ 103.5 is ex, presscd as:
a. log 4 b.
S L —

log 9/5

©  If log,(ab)=x, then log, (ab) is
* a. 1x b. X

a0

H’log,xﬂogmxﬂogﬂxﬂogmx:%
then the value of x is

a. 64 b. 4

c. 16 di2

(1)  If log,,3=x and log, 4=y, then the
value of log,, 120 can be expressed as
8 x=-y+l1
i Ak

(12)  Find the value of log(x®), if
> log(x) + 2log(x* ) + 3log(x*)

d.  None of these

a 27 b. 36

= d._ 1

» log ;64 is equal to:

o b 6

‘;? ¥ 10g1,2=y and log,, 3=x, then the
mefb&,lsls

in a x-y+1 b, X+y+1

A L. d. y—x+1

(17) log; mg‘ log: - log. .log; .log; trplm.’ tg I
il v, 2
C. 1 d 0
) I' : f'- 1

YO
(13) The value af [logm( 5log,, IOO)]

a. 2

gz 0
WIGER p S E ey PYQMﬂ
(19) Gwen that log,, x=m+n-1  and
log,, y =m—n, thewalue of log,,(100x/y’)

log, log, 256 + 2log ;; 2 is equal to:
23 b
5 d 7

4 b 5 ¢ 5 b
T 8 d 9 ¢
10 ¢ 11 b 12 d
i 14 a 15 a
16 a 17 b 18 ¢
e 20 b 21 ¢

LOGARITHNI

Mock Test Paper Questions



@) If log, log (Nx+5 +x) =0 the value of x is

a. 0 bould
[ 1/4 d i

@ Ifa=log, 12,b=log,, 24,l0g,, 36 then prove

that 1 + abc =
a. 2bc b, 2ca
c 2ba R o

(5) The value of log,, 512 is
a 9 b 92
¢ 94 a3

©  The value of (log, a.log, blog,cf=

a1 b. 3_;_

(12) If log,, 5 +log,,(5x+1)=log,,(x+5)+1,

Ratio, Proportion, Indices, Logarithm

then x is equal to
a.! il b0
B, d 10

(13)

Find the value oﬂog-;—:- + k’gi_. +h;‘gzF

0812 ”"%'asﬂ'igmﬁrm




MTP June 24 5,

VL et 20 DeTIES 55 (30 TR
A1 ff (.’oga+ 0g 1€ va ueof
wn s, 16 2 81\ is equal
;Iog[}-s-]+5.’og[24 +3log 30 is eq
a +b is
| a. bab b. 8ab
S c. 6a362 d.  None of these
(22) iog(x +)- fog,(x-i-l) 2ﬁnd1 ST e e M’IPIWZ'!SCME
il o6 b 0 (31) ifflag¢x=—-3/2 Then x is
gl d Nonegfﬂ:&se ’ A g 1/8 b. %
23) Given fog?. - 03010 and IogS 04771 then T MIP Sep 24 Sering)
the value of log 24 (32) Given that Iong ¢ and log,, 3=y, the
a. 1.3081 b. 1.1038 b

e R

(24) Gweu that logmz xand log,, 3=y the
value of log,, 120is expressed as
a. 2x-y+1 b. 2x+y+1
C. ny-l _d. None of these

(25) Thesnﬂplﬁed value of
2!'-08‘105 +logm8—5logm 4is

1
Tog, (o) * V™ gz

G i A
~d. None of these

(35) Ifn=m! where (‘m’ is a positive integer > 2)
A then the value of:

oLt e 1
log,n " log,n " logn " Tlog
[ i b: -0
R | dai2
1-a 2% |
e 5
28) If log2=03010and log3=0.4771, then the i 8 b
value of log 24 is: 10 b 11 q
a 10791 b. 1.7323 13 b 14 ¢
- ! 16 ¢ 17 d
19 b 20 a
@9 If log,(x" +x)- ~log (x+1)=2 then the 22 a 23 a
valueofxis RRS 26 b
_4- A T O o8 29 ¢




